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N-1 1000 730 | N.D. 10| N.D. 64 N.D. 0.14| 0.063|| N.D.[ N.D.|] N.D.] N.D.| N.D.] N.D.[ N.D.| N.D.] N.D.| N.D.] N.D.] N.D.| N.D.
N-21000 200 | N.D. 451 N.D. 7.8 N.D. N.D.| 0.032|| N.D.] N.D. N.D.| N.D.] N.D.[ N.D.| N.D.|| N.D.| N.D.|] N.D.| N.D.| N.D.] N.D.
N-31000 140 | N.D. 1.7| N.D. 6.7 N.D.|| 0.037| 0.039(f N.D.] N.D.[| N.D.| N.D.] N.D.] N.D.| N.D.J| N.D.| N.D.|] N.D.| N.D.| N.D.] N.D.
N-4 1000 250 | N.D. 50| N.D. 34 N.D. 0.29 0.15|] N.D.| N.DJ| N.D.|] N.D.| N.D.|] N.D.| N.DJ| N.D.] N.D.| N.D.] N.D.| N.D.| N.D.
N-5100000 85| N.D. 1.7| N.D. 15 N.D. 0.28 0.17|| N.D.| N.D.J| N.D.] N.D.| N.D.] N.D.[ N.D.J|] N.D.] N.D.| N.D.] N.D.| N.D.| N.D.
N-6|l0DO0O0O0 140 | N.D. 6.3| N.D. 88 N.D. 0.80 0.21|| N.D.| N.DJ| N.D.|] N.D.|] N.D.|] N.D.| N.DJ| N.D.] N.D.| N.D.] N.D.| N.D.| N.D.
N-71000 31| N.D.| N.D.| N.D. 8.3 N.D.|| 0.064 0.12]] N.D.| N.D.J| N.D.] N.D.| N.D.] N.D.[ N.DJ|] N.D.] N.D.| N.D.] N.D.| N.D.| N.D.
N-8|10DO00O00O0 130 | N.D. 22| N.D. 76 N.D. 0.24 0.40|| N.D.| N.DJ| N.D.|] N.D.| N.D.|] N.D.[ N.DJ| N.D.] N.D.| N.D.] N.D.| N.D.|] N.D.
N-9 1000 28| N.D.| N.D.| N.D. N.D. N.D. 1.40 0.67|| N.D.| N.DJ| N.D.] N.D.| N.D.] N.D.[ N.D.J|] N.D.] N.D.| N.D.] N.D.| N.D.| N.D.
N-10|10 O O 200 | N.D. 1.7| N.D. N.D. N.D.|| 0.068| 0.061|f N.D.|] N.D.J N.D.] N.D.] N.D.] N.D.] N.DJ| N.D.| N.D.] N.D.|] N.D.|] N.D.] N.D.
oooono 049] 0.35| 0.99| 0.62 0.47 0.29] 0.025| 0.025 0.30] 0.40 —| 0.16] 0.094| 0.17| 0.17 —| 0.055| 0.16] 0.30| 0.76 0.32
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L[ 7F] 146 107 140 ND.] 37] ND.J ND.[ ND.| 035] 026] NDJ] NDJ NDJ] NDJ] NDJ] NDJ] NDJ NDJ] NDJ] NDJ] NDJ] NDJ] ND.
2 [ 7] 137 94 360] N.D.| 46[ N.D. 31| ND.J 076] 12| ND] NDJ ND.] NDJ] ND[ ND] NDJ ND] ND[ ND] ND.| NDJ] ND.
3[ 7] 10+14 35+77 120 ND.| 21| N.D. 58| ND.| 012] N.D.J[ ND] NDJ ND.] NDJ] ND[ ND] NDJ NDJ] ND[] ND] ND.| ND] N.D.
4 [ 7] 10+12 37+63 190 N.D.| 33[ N.D. 35| ND.| 028] 012 ND] NDJ ND.] NDJ] ND[ ND] NDJ NDJ] ND[ NDJ] ND.| NDJ] ND.
5[ 7] 12+12 44+53 74| ND.| 1.6] N.D. 35| ND.[0080]| ND.J| ND] NDJ ND.] NDJ] ND[ NDJ] NDJ NDJ] ND[ ND] ND.] NDJ] N.D.
6 7] 11+12 44+52 23| N.D.| N.D.| N.D. 13 N.D.|[ 040 ND.| ND] NDJ NDJ] NDJ] ND] ND] NDJ NDJ] ND[ ND] ND.| NDJ] ND.
77+ ] 11+10 47+44 71 ND.] 11| ND.J 21[ ND.J 13| N.D.J[ ND] NDJ ND.] NDJ] NDJ] ND] NDJ NDJ] ND[ ND] ND.] N.D.] ND.
8 [ 77| 10+9+9 | 34+25+25 571 ND.| 09| ND.J ND.[ ND.| 10| 008 ND[ ND| ND.] NDJ] ND|] ND] NDJ ND] ND[ ND] ND.| NDJ] ND.
9 [ 77 [ 9+9+10 | 28+25+27 71 ND.] 08| N.D.J ND.| ND.| 028] 019] N.D.] NDJ ND.] NDJ] NDJ] ND] NDJ NDJ] ND[ ND] ND.] N.D.] ND.
10] 77 [ o+8+6+9 | 20+13+8+21 ] 140[ N.D.[ 19] ND.J ND.] ND.J 20 008 NDJ] NDJ NDJ] NDJ] NDJ] NDJ] NDJ ND] ND[ NDJ] ND] NDJ] ND.
ooooo 049] 050 o068] 064] 049] 048] 0029] 0025]] 029 o055 — 036] 041] o052 o6 — 031] 0.16] 055] 039 0.59)

*1-7 2= )L-4-(1-7 ==V = F V) TRV, a7 == b-da(1-7 ==L = F V)T I a7 ==/b-de(1-7 ==V =F V)TV | le7 z=/b-da(1-7 = =)L = F V)T ) i Me 7 = =/b-de-(1-7 ==L = F V)T IV DA R

N.D.: f H R A AR 27~ 9,
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0o 0Q 0o
No. ooo oo oa pH DO ss 0oog 000 (0000 TN T-P TOC
Q) @) (mg/L) | (mg/L) |0 g/em30 | O %0 (%) (mg/kgddry) | (mg/kgldry) | (%)
N-1 [ooo 109 105 7.2 43 8.4 2602 | 373 351 500 1600 1.13
N-2 |ooo 10.8 15.4 7.4 49 199 2621 | 294 1.04 150 710 0.26
N-3 |[OooOo 1.2 123 71 6.6 12.4 2630 | 236 1.48 100 400 0.30
N-4 00D 8.0 11.0 6.9 2.4 12.9 2579 | 426 4.69 850 3000 1.69
N-5 |[ooooo 6.4 11.6 6.9 36 364 2.606 | 20.0 1.17 200 820 0.28
N-6 |ooooOo 4.1 5.4 6.8 6.0 19.4 2.466 | 57.8 7.42 2200 5200 2.65
N-7 |0DOD 4.6 13.0 7.0 37 16.9 2622 | 220 1.14 150 540 0.24
N-8 |[ooooo 7.0 9.4 71 6.0 224 2455 | 688 10.7 3900 4200 3.93
N-9 [OooOo 1.3 1338 6.8 89 9.4 2607 | 255 1.17 100 330 0.22
N-10 [ooOD 104 10.1 6.9 3.0 104 2585 | 245 1.69 250 540 0.49
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000 (N-1) 000 (N-2) 000 (N-3)

oooa oo oad oad

Mo | ) | TH L mgy L] M | ) | P | o | men] N | @) | OH | gy | o)
3/14 120 || N-1(2) 10.5 7.2 4.3 8.4 |[ N-2(2) 15.4 7.4 4.9 19.9 || N-3(1) | 12.3 7.1 6.6 12.4
3/14 150 | N-1(2) 11| 7.2 4.7 10.1 N-3(2) | 14.0 7.0 8.9 16.4
3/14 180 || N-1(3) 11.5 7.2 5.2 10.7 |[ N-2(3) 15.0 7.4 5.6 124 || N-3(3) | 129 7.0 7.6 13.9
3/14 210 | N-1(4) 125 | 6.9 4.3 11.4 N-3(4) | 12.2 6.9 3.2 14.4
3/15 000 || N-1(5) 12.8 7.1 3.4 109 |[ N-2(5) 12.4 7.4 5.2 319 || N-3(5) | 11.7 6.8 1.2 12.9
3/15 030 || N-1(6) 124 | 71 3.2 129 N-3(6) | 11.1 6.9 1.0 12.9
3/15 060 || N-1(7) 15| 72 3.2 11.4 [ N-2(7) 124 7.3 39 37.9 || N-3(7) 9.9 6.9 1.1 12.9
3/15 090 || N-1(8) 119 | 7.2 3.2 11.4 N-3(8) | 10.9 6.9 2.4 17.4
3/15 120 || N-1(9) 126 | 7.3 35 8.9 |[ N-2(9) 15.6 7.3 4.9 14.4 || N-3(9) | 13.6 7.0 6.4 18.4
3/15 150 ||N-1(10) 13.7 7.2 4.0 9.4 N-3(10)| 15.7 7.0 9.1 14.4
3/15 180 || N-1(11) 13.4 7.2 4.2 7.9 |[N-2(11)| 17.9 7.3 52 11.4 |[N-3(11)| 14.9 6.9 71 11.4
3/15 210 |(N-1(12) 14.7 71 3.2 6.4 N-3(12)| 14.3 6.9 2.9 12.9
3/16 000 [|N-1(13) 15.7 7.1 35 119 [IN-2(13)| 14.9 7.3 4.5 20.9 [[N-3(13)| 135 6.9 1.8 13.4
3/16 030 |[N-1(14) 15.9 7.2 2.6 11.9 N-3(14)| 134 7.0 0.6 15.9
3/16 060 ||N-1(15) 14.9 7.2 3.0 144 |[N-2(15)| 134 7.2 3.6 149 IN-3(15)| 12.2 6.9 1.1 25.9
3/16 0901 |[N-1(16) 140 | 7.3 3.6 11.4 N-3(16)| 9.7 6.8 4.1 263.4
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ala ooooo oooooo oooa ooooo
oo ogdno ogd ogd oadao OO OO oono ogdno ogd ogd
(km) [ No 7 3 No 7 3 3 No 7 3
(m) | em/s) | (m’/h) (m) | n/s) | (m/h) | (m’/h) (m) | em/s) | (m/h)

A [N-90 N-3 [1.010 |[N-9 1.16 50.3 2110 |N-10 3.58 34.5 4450 6560 |N-3 7.10 29.0 7400
B |N-30 N-7 4.040 [N-3 7.10 29.0 7400 7400 |N-7 11.3 229 9300
C IN-700 N-2 [1.900 |N-7 11.3 229 9300 [N-8 0.43 19.4 300 9600 [N-2 6.74 41.2 10000
D |N-20 N-511.970 [N-2 6.74 41.2 10000 [N-6 2.49 0.83 80 10080 [N-5 12.0 24.7 10700
E |N-50 N-1 4.170 [N-5 12.0 24.7 10700 10700 [N-1 56.2 3.88 7840
F |N-10 N-4 [3.350 [N-1 56.2 3.88 7840 O (OO0 OO0 ooo ooo N-4 103.3 12.8 47700
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o000 (N-D) 000 (N0 000 (N3
bood 000 |ggogl| OO 000 |ggogl| OO 000 |ggogl| OO
No. m) | (cm/s) | (m%n) No. m) | (cm/s) | (m%n) No. m) | (cm/s) | (m%n)

3/15 120 N-1(1) 56.2 39] 7800 N-2(1) 6.74 41.2] 10000] N-3(1) 7.10 29.0] 7400
3/15 150 N-1(2) 56.2 39 7800| N-3(2) 6.65 321 7670|
3/15 180 N-1(3) 55.7 28] 5700 N-2(3) 6.95 478 12000] N-3(3) 6.65 298] 7120
3/15 210 N-1(4) 55.9 6.1] 12200 N-3(4) 6.16 281 6240
3/16 00F|| N-1(5) 57.0 54 11200| N-2(5) 6.95 30.9 10000] N-3(5) 6.65 280  6700|
3/16 03| N-1(6) 57.0 49 10000| N-3(6) 6.32 276 6270
3/16 061 N-1(7) 57.8 53] 11100 N-2(7) 7.37 431] 11400] N-3(7) 6.32 252 5730|
3/16 097 N-1(8) 60.0 04 -880 N-3(8) 6.48 26.0] 6060
3/16 12/ N-1(9) 61.1 53] 11600 N-2(9) 6.32 453 10300] N-3(9) 6.65 30.3] 7260
3/16 150 N-1(10) 62.2 43 9580| N-3(10) 6.32 305 6950
3/16 181 N-1(11) 62.5 59 13200 N-2(11) 6.74 430 10400 N-3(11) 6.81 299  7330|
3/16 211 N-1(12) 60.3 15.6] 33800| N-3(12) 6.32 283  6430|
3/17 00W|| N-1(13) 61.1 52| 11400 N-2(13) 6.95 475 11900 N-3(13) 6.65 27.0] 6450
3/17 031 N-1(14) 611 35] 7710 N-3(14) 6.65 28.0]  6700|
3/17 061 N-1(15) 62.2 1.1 2400 N-2(15) 7.16 51.1] 13100| N-3(15) 6.48 375 8760|
3/17 09| N-1(16) 64.4 48] 11200] | N-3(16) 974 1089 38200|




